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1 ���. #��
������� 
��!��
��� �� 	�����  
2

: 2
3

X a b c
� �

= − −� �
� �

, 


����� 3,3.41 1,7.41 5.38, 2a = + −  ;  
1 1,5

6 : 0,8 :
3 503

.0, 4.
12

1:
2

b = − , � c � ��!-�����	�� �� 

���	��� �� �	
���� 18; 48 	 126. 

2 ���. *��	�	�� ��	����	 
�����	 ���	 �� ������
. #���	�� ��� 40% �� ������ ��; 

����	�� ��� 25% �� ���	�� �� ����	�; ����	�� ��� �����	���� �� ���	�� �� ����	��

�����, � �������	�� – �
�����	�� 4 ����. ���
� 
����� ������
��? 

3 ���. $��� 
���	� )��	���� 	 #��
�� 
� ������	�	 �� 
�������� ���
� 	 �
�
	

������� �� 	�
����� ����� �� �
�����. �
�
	 ��� )��	���� 	��	����� �� 25 
�, �

#��
�� – �� 35 
�. �
� ��	
��
��� �� �
����� � 120 
�, �� 
��
� 
	������� ��


�������� ���
� )��	���� 	 #��
��  � ����� ������ ������, �
�: 

�) ������� � ����	��	 ��
�
	?        �) ������� � ���� ��
�
�? 

4 ���. �� �	������ ABCD � ������, � BECD � �
������	
. �
� 2.AB BE= ,  4ABOS = 	

3BECS = , �� 
� �����	 �	���� ��  COD∆ . 
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